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§1-1 % B = #
EF DCS-1 EBERLHMEXNTN

—. BFAE

B A e 2317 A W sRBR i B A -

Z. BEFike

10 REM REE RN R PROGRAM DCS-1 L R A O SR O 3 O
20 REM R EEE KRR AR R KRR KRR R R TR RE RN ERRR
30 REM Program demonstrates selecting various forms of equations

40 REM EAREE R R R R R R R R R LR R R A A RN R RN
60 REM

100 PRINT : PRINT "Select which form of Ohm’s law equation”
110 PRINT 'You wish to use.’ : '
120 PRINT

130 PRINT TAB(10); "(1) U=I*R"

140 PRINT TAB(10); *(2) I=U/R"

160 PRINT TAB®D); *(23) R=U/I"

160 PRINT TAB(0)

170 INPUT "Choice} ; C

180 IF <t OR. C>3 THEN GOTO 100

190 ON C GOSUB 400, 600, 800

200 PRINT : PRINT

210 INPUT "More (YES or NOX; A$

220 IF A$="YES" THEN 100

230 PRINT "Have a good day] '
240 END '
400 REM Accept input of I, R and output U

410 PRINT ‘*Enter the following data”
420 INPUT * I=%

430 INPUT * R=" R

440 U=1#R

460 PRINT "Voltage is ": Us " volts'
480 RETURN



600 REM Accept input of U, R and output I
610 PRINT "Enter the following data"

620 INPUT " U=" U '

6§30 INPUT 7 =" U

840  I=U/R.

650 PRINT "Current is"; [; ' ampers”

660 RETURN

800 REM Accept input of U, I and output R
810 PRINT "Eater the following data”

820 INPUT " =" U

830 INPUT " 1=" I

840 R=U/I

860 PRINT “"Resistance is "; Ri " obms

860 RETURN

=, BFiRH
m&%ﬁ%m IR
(1) U=IxXR
(2) I= U;’R
(3 R=U/I
B DCS-1 ¥R TRBERZMXARMHH. ERFANCHE, & J: ﬁJ:xE
(1). (2)R¢ 3R, HEF 190 #EaERT ON--GOSUB- 5.
170 &R % C .
C =14}, BFHIT 400 &4
C =2 rf, BFHIT 600 FH;
C =3 mt, BFRAT 800 HFH.

m. BT
RUN

Select which form of Ohm's law equation

You wish to use,

(1) U=I#*R
(2) I=U/R
(3) R=U/I
Choose? 2
Eneter the following data
U=12
R=4E3



Current is 3E—03 ampersg
More (YES or NO) YES

Select which form of Ohm’s law equation

You wish to use.

(1) U=I=R
(2) I=U/R
(3) R=U/I
Choice? 1

Enter the following data

I1=2E-3

R=5.8E3

Voltage is 11,2 volts

More (YES or NO) YES

Select which form of Ohm’s law equation

You wish to use.

(1) U=I*R
(2) . I1=U/R
(3) R=U/1
Choice? 3

Enter the following data

U=60

[=0.036
Resistance is 1428.6T143 ohms

More (YES or NOINO
Have a good dayl

§1-2 o 2 fn & &

EBF DCS-2 BMMEBHERNITN

—. BFO%E

BT LA R R A2 24 /N S JFS R AR R ek, ORISR AT 4T E 45 /e
7 v B A



=, EFiRA

30
40
50
60
100
110
120
130
140
160
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
310
380
390
400
410
420
430
440

il

REM [N NN NEERE R PROGRAM DCS-2 R OE R R R E RN

REM [ EEEENNEEERERERIE NI NN I I I I I I N R
REM Program to provide a .table of cost for 1 to 10 devices
REM over a3 24 hour period

REM [IEEEENEERENEFEEEEEEE RN NI S SN N N N N
REM

DIM P(8)

PRINT

INPUT "How many devices are to be coamsidered "; N
PRINT ) :

IF N>6 THEN PRINT "Neo more than 5 please’s GOTO 118
FOR K=1 TO N

PRINT "Enter power dissipated by device "; K;

INPUT P(K)

NEXT K .

PRINT : INPUT "What is the cost of electricity in cents/kW-h *; R
PRINT .
PRINT "The f{ollowing table shows the cost of electricity”
PRINT ‘"over 24 hours (in ceats) for the "; N; " devices:”
PRINT

FOR K=1 TO N

PRINT TAB(8#K); "Unit "; K;

NEXT K

PRINT TAB(8+*K); "Total”

PRINT " Time';

FOR K=1 TO N

PRINT TAB(8#K); "(kW-h)";

NEXT K .

PRINT TAB(8%K); "(cents)"

FOR T=1 TO 24

PRINT TAB{4); T;

FOR K=1 TO N

WH=P(K) = T/1000

C=R+=WH

TC=TC+C RO

PRINT TAB(8#K); WH;

NEXT K o=
PRINT TAB(8+K); TC

TC=0 '

NEXT T

END



-

=, EFiiW

100~230 EA AR,

240~260 FEHFTE Unit 1, Unit 2--,

280 iF A NI E —HEAEATE Time.

290~320 & AT ED F P & 0 Hy B {07,

330~340 iE 4] M\ Z2 1 51 23 1O A% AL AT E i fe]

350~360 HEAHH 1~24 NN B IERFIGFEAER,

370~380 i Wi E A A RSB RA B, IFH 390~410 15 AT H K,
1E1T 420 IBAER S HEIRNE, '

m, ET%H
RUN

How many devices are to be considered 4

Enter power dissipated by devicel? 1200

" Enter power dissipated by device2? 3600

Enter power dissi_pated' by device3? 300
Enter power dissipated by deviced? 1000

What is the cost of electricity in cents/kW-h 22
The follawiﬁg table shows the cost of electricity over 24 hours (in cents)

for the 4 devices:

Unit 1 Unit 2 Unit 3 Unit 4 Total
Time  (kW-h) (kW-h)  (kW-h) (kW-h)  (ceats)
1 1.2 3.6 .8 1 184.2
2 2.4 1.2 .8 2 288.4
3 3.6 10.8 .9 3 402.8
4 4.8 14.4 1.2 4 536.8
5 8 18 1.6 b 671
6 1.2 21.8 1.8 8 805.2
T 8.4 26.2 2.1. 7 939.4
8 9.6 28.8 2.4 8 1073.6
9 10.8 32.4 2.7 9 1207.8
10 12 36 3 10 1842
1 13.2- 39.8 3.3 11 1478.2
12 14.4 43.2 3.5 12 1610.4
13 15.6 46.8 3.9 13 1744.8
14 16.8 50.4 4.2 14 1878.8
15 18 54 4.6 16 2013
16 19.2 57.8 4.8 16 2147.2



17 20.4 61.2 5.1 17 2281.4

18 21.6 64.8 6.4 18 2415.6
19 22.8 68.4 5.T 19 2649.8
20 24 T2 ] 20 2684

21 26,2 76.8 6.3 21 2818.2
22 26.4 79.2 6.6 22 2962.4
23 27.6 82.8 6.9 23 3086.6
24 28.8 86.4 7.2 24 3220,8

BF DCs-3 @AB™HAN

—. BRI
TP T B — A A 5 6D S il Bt R 2 HL 3R 1L

=, BFiRR

10 REM BN EEE K E KR KN W PROGRAM DCS-3 ****i*ll;ﬁ
20 REM PR T 2 R E R R R K R A A
30 REM Program calculates cost of enery using
40 REM E(kW -h) =P(watts) # T(hour)/1000
50 REM FErarararaaaa e YT RS R EE R R R R R B B B S I
60 REM

100 PRINT "To provide calculation of the enmery used by a device’
110 PRINT 'Input power in watts and time of usage in hours"
120 INPUT "P(watts)=": P ’

130 INPUT "T(hours)=" T

140 INPUT "What is cost of electricity in cents/kW*h "; R
166  E=P»T/1000 '

180 C=E#*R

170 PRINT : PRINT ‘Energy= "; E; " kilowatt-hours’

180 PRINT " at a cost of "; C; " cents’

190 PRINT

200 PRINT "Do you want additional comparison using the same"’
210 PRINT * device over a range of 24 hours (YES or NO)":
220 INPUT AS$

230 IF A$< >'YES" -THEN END

240 . PRINT . : PRINT

260 PRINT °T(hours) k¥W-h Cost(cents)"”

280 FOR Ti=1 TO 24

270 E=P=T1/1000

280 C=E=R

290 PRTNT Ti, E, C

300 NEXT Ti

310 PRINT



320 PRINT "How's that| "
330 END

=, BFEB

110~140 iFH a5 N 5.

150~160 ¥ 43t B i K %R, '
170~190 A H 81,

200~230 &4 5 A AT W EITE,

250 B AT EN RS RER B FR R AL,

WRTE 230 BHAPEAR YES LSRRI, AR5 04w

M, ETEH

RUN

To provide Calculation of the emery used by a devicce

Input power in watts and time of usage in hours :
P(watts) =1200 .
T(hours)=8
What is cost of electricity in cents/kW-h 22

Energy=7.2 kilowatt-hours
at a cost of 168.4 cents

Do you want an additional comparison using the same device over a range

of 24 hours (YES or NO)? YES

T(hours) kw-h Cost(cents}

1 1.2 26.4

2 2.4 52,8

3 3.8 79.2

4 4.8 106.6

b 8 182

6 7.2 168.4

T 8.4 - 184.8

8 9.6 211.2

9 10.8 237.8
10 12 264

11 13.2 ) 290.4 .
12 14.4 316.8
13 16.8 343.2
14 16.8 369.6
16 18 386

16 19.2 422.4



17 20.4 448.8

18 21.6 476.2
19 22.8 601.6
20 . 24 528
21 25.2 664.4
22 26.4 580.8
23 27.8 - 607.2
24 28.8 633.8
How's that}

BF DCS-4 AR AGEREENTN
—, BEI8E
BRI B EAE L EBUE R T, AR FI DR i 11 45T Ha B b LA P 9

=, BARE

10 REM ,lti!-i--l-l-ilv-l-&-l PROGRAM DCS-4 x-tt*lin&-n'a&t
20 REM E R E E R E RR B EFRRREREREEETREREEEERERER NN
30 REM  List table of resistance and current of Uwmconstant and over
40 REM a range of power values

1] REM [EEERENEEFEEEFEE R RN NN EENEERNERNEENXEENNEN]
60 REM

100 INPUT “Supply voltage(volts, U="; U

110 PRINT : PRINT TAB(7); "Resistance”; TAB(28); "Current’
120 PRINT TAB(8): "(kilohms)"; TAB(29); "(amps)'
130 FOR P=1 TO 9

140 READ P(P)

150  DATA 16, 26, 40, 60, 100, 150, 200, 500, 1000
160 REM Print ouput table

170 R=((U"2 )/P)/1000

180 [=(SQR(P/R))

190 PRINT TAB(T): R: TAB(27); |

200 NEXT P

210 END

=, BFiE

100 iEMAEH EMEM (2208 110 V),

110~120 5 4TEN KM A B FR AL,

140~150 fE A N REES, B[ 15W, 25W, -, 1000W & 9 FITHKTIER,
170~200 75 /A1 ¥T B 4 AS [ 2y 04T ¥t iy e L0 oL DA 4EL o



m, EFTRH

RUN
Supply voltage(volts), U=220

.Resistance Current
(kilohms) (amps)
48.4000001 . 143739894
24.2 L2BT4TITET
16.1333333 .431219681
12.1 .6T49696T6
9. 68000001 .718699468
8.0668666T 862439362
6.91428572 : 1.00617926
6. 06000001 1.14991916
5.377TT7T18 1,29366904

RUN _
Supply voltage(volts), U=110

Resistance Current
(kilohms) (amps)
12,1 L28T4T9T8T
6.06000001 . B74959576
4.03333334 . .862439362
$.025 w7 1,14991916
3.42 ; 1.43739894 .
2.01668667 1.72487872
1,72867143 2,012368561
1.5126 2.2998383
1.34444446 . 2.b68731809 .

$1-3 # £ # &
B pCS-5 HEAETHNI=FU) @R

—. EFU%E :
Ll ERE L EAR BB I=fWU) iR

=, EfFa
10 REM ERER BB REBRERE PROGRAM DCS-6 IEEEREEN RN N NN



